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would it be reasonable to construct

a 95 CI for Bo B

Ans It would be problematic As discussed

last Wednesday the residuals are not

homoscedastic of equal variance but are

intead heteroscedastic of different variance
depending oni.IE confidence intervals



would therefore not be very accurate

Q Test if β 8 at the 95 level
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We wish to test hypothesis
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1.33

The critical value will be Zos 1.64

so there is insufficient evidence to

reject the null hypothesis at the 95 level

The p value is 1 E 1.33 0.09


